— ANRhR(ERIE

O [FU&IC

ETHEBSRZ T, WASTEETSHEEBRESEE N
S, BIRESEDL, AREHOMSEDBDE SR> T
B.

(]
BHOBIDLDIC

(1) #eFEs R

(2) dx
@%Q’&%ﬁbb\’giﬂ’iﬁ%\f, TTOREEH UV ICESIRX
.

(3) WRETDOZH  TEDT

X Eﬁ%%jﬁ@dx@$t§ﬁh5/@)%mﬁﬁ%@
ENS.

PlEE

(1) J. e dx

3x=t £H< &,
WIEDBEE, ¥ =c!

dt 3 s de= 4L
dx 3

Je3xdx = Jet di _ e'yo= e
3 3 3

3Ix=t £H< &,
WAEDBEENL, sin 3x=sin ¢

dt =3 s de= 4L
dx 3

jsin 3xdx = J.sin ¢ dt - -cost Lo -cosdx o
3 3 3

(*) —%c,jﬁ@mmeﬂj@cg,
.[ flax+b) dv= LF(av+p)+c

MDD, (22U, a#0)
il

g e 1 (ax+b)"!
x+ Xx=— 1= 27 +
J(a.x b)" dx TS C

jezz,v+/)clx: ieu.\”rh_;'_c
a

J-sin (ax+b)dx= ?]1 {—cos(ax+b)} +C

%  cos(ax+tb), tan(ax+b) EEk.

Bl

J'(2x+1)3dx

x+1=t £H< &,

WEDBERE, (2x+1)°=F

dt =3 125 de= 9L
dx 2

4
festpiar = [ d = L faa=Lic

_ (2D o

2

(3) J'sinfx dx

sin x=t &H<L &,

sin

3=p3

X (FMRE(CLTHL.

dt —cos x Zhs dx=_dt_
cos X

&

J sin3x dx = J‘t3 _dt

(FHIDTHRD.

:jﬁ di = v = sin'xc

w2 +]=

7 4

t £HLL,

P (FREBICLTHL.

A —px 2p5 dx= 4L
2x

dx
2x _ [ 2x dt
) T
pd (IR THEZS.

=J' 41 ~1og 1| +C=log (+* +1)+C

(xX°+1>0 h5, EHEZSEAE)

(*)

—ME(C, DFHDPEBOMDERODTNDES,
J.L(i dx=log |f(x)|+C
fx)



file:///G:/2020_Doushisya/high_school/mobile/integral2.htm

ROAREBDZTEUCEMZEDH L. [FAEF (=1
1 hXF)zic Al (B, StERRN’UE)

(1)
[ 9= ) ic
Check | Reset | Help
(2)
J dx ... 1 o
(3x+2)* { e )
Check | Reset | Help
(3) .
J- cos (2x+3)dx = -+ = sin{ _xt )i¢
Check | Reset | Help
(4)
J- tan (2x+m)dx = - =- Llog |cos (2x+m)|+C

Check | Reset | Help

(5) GtE: PR
_[x\/—xﬂ dim e (HINx+] (x= ) i

Check | Reset | Help

(6)
J’de:,_,zglogx) +C
X

Check | Reset | Help

MADIZID.
Bl

o2 de=1og  sinx|+C

sinx

J‘ e’
e’ +1

dx=log (e*+1)+C




(7)

2x _ ,—2x _
I e e dx=---=ilog(e2"+e X)+C
e2x+e—2x

| Check || Reset | Help |

(8)

_ X2 gy=.=log(¥?+  xt+ )+C
Ix2+2x+4 B D :l)

| Check || Reset | Help |



file:///G:/2020_Doushisya/high_school/PC/index.html

